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Yerur should herve the following for this examinaiion:
Amswer hooklet,
Answer any FIVE of the foltowing EFGHT questions
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(i List two examples of fewrth gereration programming languages
(1 mark )
(it} Stote three items that can be placed in an appendiy of program
documentation. (3 marks)
Describe the procedure tor performing a guick sert (6 marks)

Differentiate between seodnfar and monodithic design as vsed in programming.
(4 marks)

Write a Pascal program that genecates all the even numbers in the range 50 10
109, determines their sum and displays the even numbers and the sum,
Lise for  doop. 6 marks)

(1) State two stractured progrevmming languages other than C and Pascal,

(1 mark)
{ir} Crutline two contents of on ey 85 wsed in progeam documentation,
(2 marks)
i) Dreseribe the term parameter poassing as used in programming.
(4 marks)
(i} Eristinguish botween ramdom and  sequeniiod ile organization methods
as used in programming. (3 marks)

The tollowing isa C program scgment. Use it to answer the question that
fel lows,
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(dy  Write a C program io produce the following output. Use while.. foop structure.
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th. (a) Define each of the following terms as used in programming.
(i) secord,

(i) linked st {3 marks)

e

(bi [rescribe each of the following terms as used in programming:

(i)  debugging
(it} dry unning. {4 marks)
ey (i) Adams. an ICT stedent, would like to develop a program to sort the &

following numbers in ascending order using a selection sort algorithm:
4 I 0 3 2

Describe the logic of the program. 5 marks)
(i) Differentiate between global and local variable. (4 marks)
(d}  Write a C program that accepts a 4 digit mumber and then outputs it in the
reverse order. Use for,foop control structure. {4 marks)
7. (i) Define the term stack as used in programming. {2 marks)

by @ Explain two categories of tes! dato used in programming, (4 marks)
(i)  Interpret the following Pascal program segment.

wiintager:
function mtlbiplicacianin: Ainteger] s LoTeger;

Var




. N

(d)

{2}
(k)
(ch

{d)

2920103

(1) Differentiate between while and oo while control structures.
{2 marks)
(i)  Wnite a Pascal program thal sccepts the heights of five students and
then caleulates and outputs the average of the heights through the use
of a procedure. ; {6 marks)
State two advantages of using the bimary search algorithm. (2 marks)
Describe a tree data structure as used in programming. {3 marks)
(i Differentiate between merge sort and tnsertion sort as used in
programming. (2 marks)
(ii)  The following is a Pascal program segment. Use it to answer the
questions that follow.
1f miark>=80 then
Z="Cradc A"
Elseif mark>=T) then
Z:="0rade B”
Elseif mark=60 then
Z:="Grade C’
Else
Z="0made 1TV
I. (ziven that mark is equal to 60 evaluate the value of 7.
(3 marks)
I Rewrite the program segment using cave ... of control siructure.
(2 marks)
(i) Ufanisi Company Limited uses the following information to compute
its employeess net pay.
Rate of pay = Ksh. 1000 per hour
Rate of axation=11%
Write a C program that accepts an employee’s name and number of
hours worked then computes the net pay and outputs the name, hours
worked, gross pay and net pay. .
Hing :
gross pay=hours worked®*rate of pay
taxution= gross pay® @Exation
net pay=gross pay — taxation. (3 marks)
[ii] Write a Pascal program that accepts two nurmbers and detérmines if the

two numbers are the same, otherwise it computes the remainder of the
first number when divided by the second number and then outputs all
the numbers and the appropriate comment, (4 marks)




